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ljBfyL{ pknlAw k/LIf0f 
 
 
;ª\s]tfª\s 

 
 
 

sIff M * ljifo M ul0ft (M2-B) ;do M @ 306f 
 
 
 
ljBfyL{sf] gfd (Name of the Student): …………………………………………………………………………………………………………… 

 
 
ljBfnosf] gfd (Name of the School) : …………………………………………………………………………………………………………… 

 
 
7]ufgf (Address): …………………………………………………………………… ldlt (Date): ………………………………… 

 
 
5fq ============== 5fqf =============== 

 
 
 
 
 
 
 
 
 
k|fKtfª\s ljj/0f -k/LIfssf nflu_ 

lg/LIfssf] ;xL 

 

k|Zg 1 2 3 4 5 6 

pQ//k|fKtfª\s       

k|Zg 7 8 9 10 11 12 

pQ//k|fKtfª\s       

k|Zg 13 14 15 16 17 18 

pQ//k|fKtfª\s       

k|Zg 19 20 21 22 23 24 

pQ//k|fKtfª\s       

k|Zg 25 26 27 28 29 30 

pQ//k|fKtfª\s       

k|Zg 31 32 33 34 35 36 

pQ//k|fKtfª\s       

k|Zg 37 38 39 40   

pQ//k|fKtfª\s       

 
 
 
 
 

k/LIfssf] ;xL ;Dk/LIfssf] ;xL 
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;xL ljsNknfO{ uf]nf] lrXg (O) nufpg'xf];\ . -s_ [20×1=20]  

 

 
 

Encircle (O) the correct option. 
 
 
1= lbOPsf] lrqdf, ABCD sf] If]qkmn slt x'G5 < In the given figure, what is the area of ABCD? 

(a) (2x) × x sq. units 

(b) 2x(x + 1) sq. unit 
 
 

(c) x (x + 2) sq. units 
 
 

(d) (x + 1) (x + 2) sq. units 
 
 
 
 
 
2= 4, 5, 3, 2, 1 sf] dlWosf slt x'G5 < What is the median of 4, 5, 3, 2, 1? 

 
 

(a) 2 (b) 3 

 
(c) 

 
4 

 
(d) 

 
4.5 

 
  3.         This question is kept blank. 
 
 
 
4= gS;fdf 1 ;]=ld=n] 60 ls=ld= hgfpFb5 . gS;fdf b'O{ :yfgx? A / B sf] gS;fdf b]lvg] b'/L 6 ;]=ld= 5 . 

tL b'O{ :yfgx?sf] jf:tljs b'/L slt x'G5 < 

 
On a map, 1 cm represent 60km. The distance between two places A and B is 6 cm on the map. 

What is the actual distance between these two places? 

 
(a) 10 km (b) 54 km 

 
 

(c) 66 km (d) 360 km 
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5. lbOPsf] /]vLo c;dfgtfsf] xn s'g xf] < 2x −  3 < 5, x ∈ N  

 

b = 30 

 
 

What is the solution of the inequality? 2x −  3 < 5, x ∈ N 
 
 

(a) x < 4 (b) x < 5 

 
(c) 

 
x < 8 

 
(d) 

 
x < 2 

 
 
 
 
 

6. lbOPsf] lrqdf 5fofF k/]sf] efun] s] hgfpF5 < 

In the given figure, what does the shaded region represent? 

(a)      A∪B                                                               (b)  A∪B  

(c)      A∩B                                                               (d)    B−A 
 
 
 
 
 
7. ?= 2000 sf] k|lt jif{ 5% Aofhb/df 2 jif{sf] ld>wg slt x'G5 < 

 
 

What is the amount on Rs. 2000 at the rate of 5% per annum for 2 years? 

(a) Rs. 2200 (b) Rs. 2000 

(c)      Rs. 2100                                                   (d)    Rs. 2400 
 
 
 
 
 

8. olb a = 5 /    a 10  
5 eg] b sf] dfg slt x'G5 < 

 

If a = 5 and  a 
b =  10 , what is the value of b? 

30 
 

(a) 30 (b) 10 

(c) 40 (d) 15 
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9. lbOPsf lqe'hx? s'g tYoaf6 cg'?k x'G5g\ < By which axiom are the given triangles congruent?  

 

 
 

(a) ASA (b) SAS 

 
(c) 

 
SSS 

 
(d) 

 
RHS 

 
 
 
 

10. lbOPsf] lrqdf AB j[Qsf] Jof; xf] . 5fof kfl/Psf] efusf] If]qkmn slt x'G5 < (π =  22 ) 7 
 

In the given figure, AB is the diameter. What is the area of the shaded region? 

(a) 22 cm2  (b) 44 cm2 

(c) 77 cm2  (d) 154 cm2 
 
 
11. 30 ;]=ld= / 75 ;]=ld= sf] n3'td kbdf cg'kft slt x'G5 < 

 
 

What is the lowest term of the ratio of 30cm to 75cm? 
 

 

(a)  30 
75 

 

(c)    5   
2 

(b)    3   
7 

 

(d)   2   
5 

 
 
 
  12.    This question is kept blank. 
 
 
 
 
 
13. 8, 10, 11, 12, 14 sf] dWos slt x'G5 < What is the mean of 8, 10, 11, 12, 14? 

(a) 10 (b) 11 

(c) 12 (d)   13 
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14. ljGb' A(3, 3) nfO{ 2 PsfO bfofF / 6 PsfO tn lj:yfkg ubf{ x'g] lgb]{zfª\s s'g xf] <  

 

                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                     

 
 

Which of the following is the image of the point A(3, 3) after translating 2 units right and 6 

units down? 

 
(a)      (5,-3) 

(b)      (5, -9) 

(c)      (-5, 9) 

(d)      (-5,-3) 

 
 
 
15. tnsfdWo] s'gn] cleJo~hs 3a2 – 48b2  sf u'0fgv08x¿ b]vfpFb5 ? 

 
 

Which of the following represents the factors of expression 3a2 – 48b2? 

(a) 3 (a + 4b)2  (b) 3 (a −  4b)2 

(c)      3 (a + 4b) (a – 4b)                                    (d)    3 (a + 16b) (a −  16b) 
 
 
 
 
 
16. 2 aif{sf] nflu 10% k|lt jif{sf] ;fwf/0f Aofhb/df ?= 5000 nufgL ubf{ Aofh /sd slt x'G5 < 

 
 

What is the simple interest on Rs.5000 for 2 years at the rate of 10% per annum? 

(a) Rs. 100 (b) Rs. 500 

(c)      Rs. 1000                                                   (d)    Rs. 1010 
 
 
 
 
 

17. x sf] dfg slt eof] eg]     3     kl/eflift x'Fb}g < x–11 
 

          For what value of x,        3     is undefined? 
x–11 

 
(a) 0 (b) 3 

(c) –11 (d) 11 
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18. cleJo~hs (a + b)2  / a2 −  b2  sf] d=;= slt x'G5 <  

 

 
 

What is the HCF of the expressions (a + b)2 and a2 −  b2? 
 
 

(a) 1 (b) (a + b) 

 
(c) (a −  b)  

(d) a2 −  b2 

 
 
 
 
 

19. lbOPsf] lqe'hsf] If]qkmn slt x'G5 <  

  

What is the area of the given triangle? 
 
 

(a) 11 cm2 

 
 
 
 

(b) 

 
 
 
 

21 cm2 

  
(c) 40 cm2 

 
(d) 

 
80 cm2 

 
 
 
 
 

20. lbOPsf] cfotsf] If]qkmn slt x'G5 <  

  

What is the area of the given rectangle? 
 

(a) 6x2 −  6 

 
 
 
 

(b) 

 
 
 
 

6x2 −  3x 

 (c) 6x2 −  3  
(d) 6x2 −  2x 

 
 
 
 
 

21. lbOPsf] ;dsf]0fL lqe'hdf e'hf BC sf] gfk slt x'G5 < 
 
 

What is the length of the side BC in the given right angled triangle? 

(a) 5 cm (b) 14 cm 

(c) 25 cm (d) 64 cm 
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22. lbPsf] lqe'hdf a sf] dfg slt x'G5<  

 

 
 

What is the value of a in the given figure? 
 
 

(a) 32 (b) 30 

 
(c) 

 
20 

 
(d) 

 
52 

 
 
 
 
 

-v_ vfnL 7fpFdf ;xL pQ/ n]Vg'xf];\ . [5×1=5] 
 
 

Write the correct answer in the blank spaces. 
 
 
23. ljGb' (0, 5) nfO{ Y−cIfdf k/fjt{g ubf{ x'g] k|ltljDa ljGb'sf] lgb{]zfª\s ================================ x'G5 . 

 

 
 

The coordinate of the image of the point (0, 5) after reflecting about y-axis is ………... 
 
 
24. lbPsf] lrqdf ∠AOD sf] ljk/Lt zLif{led'v sf]0f ================================ xf] . 

 
 

In the given figure the vertically opposite angle of ∠AOD is ……………… 
 
 
25. b'Ocf]6f e'hfx? a/fa/ ePsf] lqe'hnfO{ ================================ elgG5 . 

 

 
 

A triangle having two equal sides is called …………………… 
 
 
26. Pp6f df]afOnsf] lsg]sf] d"No ?= 15,000 5 . olb pQm df]jfOn a]Rbf ?= 3000 gf]S;fg eof] eg] ljqmo 

d"No ? ================================= x'G5 . 

 
The cost price of a mobile is Rs.15,000. If there is a loss of Rs.3000 when it was sold, the 

selling price was Rs. ………………………… 

 
27. tLg kbLo cleJo~hs 2x2 + x4y + y3  sf] l8lu| ================================ x'G5 . 

 

 
 

The degree of the trinomial expression 2x2 + x4y + y3 is ………………………… 
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-u_ tnsf k|Zgx?sf] pQ/ lbg'xf];\ .  

 

 
 

Answer the following questions. 
 
 
28. 17 nfO{ låcfwf/ ;ª\Vofª\sg k4ltdf abNg'xf];\ . [1] 

 
 

Convert 17 into binary numeration system. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
29. olb A = {2, 4, 6, 8, 10} / B = {8, 10, 12, 14} eP A −  B kQf nufpg'xf];\ . [1] 

 
If A = {2, 4, 6, 8, 10} and B = {8, 10, 12, 14}, find A −  B. 
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30.  1
20

 nfO{ k|ltztdf n]Vg'xf];\ .                                              [1]              

Write 1
20

 into percentage  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
31. xn ug'{xf];\ . (Solve) [2] 

 
 x–2 

x+2 = 
  4   
3 



<rflrr<r  (M2-Bl I      99 

 

 

 
[2] 

 
 

In the given  figure,  MN  II PT, NR  /1 TS and  L:OTS100',  find  the  values  of  L:POR and 
 

/MNO. 
 
 

M P 
 
 
 
 
 
 

0 
N-f-:----R 

T 100° s 
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33. df]xgn] Pp6f Nofk6k ?= 42,000 df lsGof] . olb p;n] 15% gfkmf u/L pSt Nofk6k a]Rof] eg] ljqmo d"No 

slt xf]nf < [2] 
 

Mohan bought a laptop for Rs 42000. If he sold it at a profit of 15%., what is the selling price? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
34= ljGb' A(4, 0) / B(0, 3) aLrsf] b'/L kQf nufpg'xf];\ . [2] 

Find the distance between the points A(4, 0) and B(0, 3). 
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35. ?= 8000 nfO{ /df / k|j]z aLrdf 3:5 sf] cg'kftdf afF8\bf k|j]zn]] /dfn] eGbf slt a9L /sd kfpF5< [3] 
 
 

If Rs. 8000 is divided between Rama and Prabes in the ratio of 3:5, what amount more does 
 

Prabes get than that of Rama? 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
36. lrqdf lbOPsf sltcf]6f ju{ / sltcf]6f cfot 5g\ < s'g} Pp6f ju{ / cfotsf] gfd n]vL ltgLx?sf] If]qkmn 

 

x / y sf] ?kdf n]Vg'xf];\ . [3] 
 
 

How many squares and rectangles are there in the figure? Write down the names of any one 

square and rectangle and write the areas of them in terms of x and y. 
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37. ;/n ug'{xf];\ . (Simplify): [ 2 ] 
 

x² + 6x + 9 
x² – 9 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
38. ;/n ug'{xf];\ (Simplify): [2] 

 
35 −  (24 ÷  13−9 ×  3) 
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39= ;dfg Ifdtf ePsf 10 hgf dflg;n]] Pp6f v]t 2 lbgdf vGg ;S5g\ . a/fa/ ;do sfd ubf{ pxL Ifdtfsf 
 

4 hgfn] pQm v]t slt lbgdf vGg ;S5g\ < [2] 
 
 

10 people of can dig a field in 2 days. In how many days do 4 people of the same efficiency, 

working the same time in the same field can dig the field? 



 

 

 

 
 

[2] 
 
 

In the figure, the monthly  expenditure of a family  is shown.  If total expenditure of the month 
 

is Rs. 10000, what amount is the expenditure in Education? 
 
 
 
 
 
 
 
 

' 
iRI"Il 
(Food 
and 

accomo 
dation), 
50% 
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